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ElE| &S KE£ FIEYIS7% ARl 244 byFE | km/h
1 [ER-19 [E= EA B AR Zeoh I E B a0k Ao 61 | 4:04:03.068[00:00.000] 41.24
2 |ER-24 [FitE &%= E EAMEHEMEENS S 2B = | 61 [404.04763]00:01.695 | 41.24
3 |ER-43 [ACCEL Ik BE— Sl EEEK A RRE KIE 61 | 4:04:04.928]00:01.860] 41.24
4 |ER-44 |ProjectAce B B FIL ZEHD EEFH &E 60 |4:04:05.567| 1lLaps |40.56
5 [ER-12 [#iFE BERERA E¥k GE RS E6.A1H EE 60 |4:04:08.133] 1Laps [40.55
6 |ER-32 [TWOCYCLE2 THRELZE EEEE BEBER BT 60 |4:04:13.405| 1Laps |40.54
7 _|ER-13 [t E BExE B Tk BE Sl e Bt 59 [4:02:27.162] 2Laps [40.15
8 [ER-23 [Fit aLa) Z B MR M EHE AR M % 59 [4:04:09.397] 2Laps |39.87
9 [ER-29 [B¥zEEB WO Gt IUE BALR —RiGE EF 58 [4:00:17.183] 3Laps [39.83
10 |ER-08 [Stev.KNOLL LR RS- E AR e 58 |4:04:05.566| 3Laps |39.21
11 _|ER-34 [FED7HR)— ZH AL A REEH SWET BF 58 |4:04:31.203] 3Laps [39.14
12 |ER-15 [RE PR FHERGH BEELH B 57 [4:00:04.341] 4Laps [39.18
13 |ER-14 [#x K BEcE &4 B Hith R E IS HE N HER 57 [4:01:31.851] 4Laps [38.94
14 |ER-35 |[ACCELARA= A BE ot W5 M| 0 ARE =i 56 | 4:01:28.578| b5Laps | 38.26
15 |ER-26 [A RE il BEsE &} EAXAETETF FER EE /M BT 56 |4:04:17.996] 5Laps [37.82
16 |ER-02 [TEAM KOSAI mE E— BRI 8 56 |4:04:18.569] 5Laps [37.82
17 [ER-20 [EBEZE He Bt dll| b B/ELEREZE 55 [4:02:16.382] 6Laps [ 37.46
18 |ER-50 [RfgZHI-DLHAHA FIER 2847, KWL #6F K4T SE. Nk &E 55 |4.02:18.279| 6lLaps |3745
19 |ER-39 |[EQUIPE300 R JTAER Rk Hx it BB ILK &t 55 |4:02:25.467] 6Laps |37.43
20 |ER-25 [Liberta Z KHEEZLASEMNE —BEA BN 55 [4:04:12.813] 6Laps [37.16
21 |ER-16 |74/ tOFES AH = #H BAFE FH 55 |4.04:19.418| 6lLaps |37.14
22 |ER-04 |BHEHEIFILIAY |SR EGHE FERE Bt 55 |4:04:20.509] 6Laps [37.14
23 |[ER-31 [TWOCYCLE O Zxi sl SRER GERER RIL 55 | 4:04:20582| 6Laps [37.14
24 [ER-17 |7 VIO FEE ZRENRT £FE FEXAR EH 54 |4.02:15.015] 7Laps | 36.78
25 |ER-03 [INCC({R) FE LR AW L RE #F 54 |4.04:14563] 7Laps |36.48
26 |ER-27 |nitto cc x SH ¥REIUO ELEE MR ER T 54 |4.04:17.964| 7Laps | 36.47
27 |ER-11 |THBMHTIESGESEL [T EXIH E2H LR 53 [4:02:18.437] 8Laps [ 36.09
28 |ER-07 [5v¥—HO—/—Z T EETL RALESR B 53 [4:03:07.124] 8Laps [35.97
29 |ER-45 |#iF BErH i S R B I RPEEE 2580 M8k [ 52 [4.0054.427( 9Laps | 35.62
30 |[ER-48 [AAL— L5 C AL BEA S BESA XBE/NFFF #fE | 52 |4:01:26.053| 9Laps |35.54
31 |[ER-52 |GAUX =25 RLEK BiER SR EH EE 52 | 4:04:15550] 9Laps [35.13
32 [ER-46 [AAL— U FA Al EEMI 5T LB SH EE 51 |4:01:29.131] 10Laps [34.85
33 |ER-33 [TWOCYCLE3 KEF BR,BH &, —#58 FC 51 |4:02:26.381] 10Laps | 34.71
34 |ER-10 |HEREEEA FE 2. AH SF A 5 51 |4.02:26.387| 10Laps | 34.71
35 |[ER-05 [NITTO CCA =HFEEESAEHE 51 |4:02:26.467] 10Laps [34.71
36 |ER-22 [{RybFF7HZFEW EM G R EEF SR B mhs mtk | 51 [4:03:34.662| 10Laps | 34.55
37 [ER-49 [AAL—I 25D =ie sefd A AR TROINBE 3/ EXR 51 |4:04:16.376] 10Laps [34.45
38 |ER-37 |ACCEL-E-> A% ER Bt UA EHZEEFRE BiE 50 |4:05:15.374] 11Laps | 33.64
39 |ER-51 | R¥EH-DLHAB AL BAX =48 BX,5H R, FE BEX 49 [4.01:35590| 12Laps |33.47
40 [ER-42 |22 -325 BE AR SR HE EPH BEE 49 [4.02:32.879] 12Laps [33.33
41 |ER-30 |[F—LHLE ZHERANT IEXRED RFLO E 49 [4.02:36.998] 12Laps [33.32
42 |ER-40 [POPH AV ILRIFE £HZHKEZHER K— L0 E# 49 [4.02:47.040] 12Laps [33.30
43 |ER-21 [{RyFFT7 X FRZ R BEENMNIE—SEZRSR £= 49 |4:03:11.330[ 12Laps | 33.25
44 |ER-38 |[TXvTJ7A4+0O BA Eih % XE.HA BiE.aH FH 49 |4.04:09.632] 12Laps |33.11
45 |ER-47 |[AAL— 5B YR B— 18 W Mz, Fl Mk R RA 49 [4.04:32.880] 12Laps | 33.06
46 |ER-06 [NittoCC-B AFER A EEE TR 48 [4:02:26.756| 13Laps [32.67
47 |[ER-09 [HSvwAY MH ES S 8.2 5hR% 48 [4:03:53.904] 13Laps [32.47
48 |ER-01 [RARKL— 29 TH Bz 3% shE 46 |4.04:59.432] 15Laps | 30.98
49 [ER-36 [/ LTE—F MA 4B E IEX A H FHE0E 45 [4.01:36.034] 16Laps | 30.73
50 |ER-41 |[ACCELRi{R7{hE NE EEFFEMEBTEH R@EMA £E [ 44 [402:30500( 17Laps | 29.94
51 |ER-28 | B ExE &} [RH HiT 08 S AKEH #B2 A% ET 43 [4.00:07.625] 18Laps [29.55
52 |ER-18 [Kg MECT+1 BT R BER ZA|HE EET £ 41 [4.00:48.075] 20Laps [ 28.09




